
Atm

Current Approaches

2 3𝚫 =

𝚫 = 3 + 4

1 - -

Atm

Surface

Snow/Firn/Ice

Ocean

3Ice Sheet

1

4
FW flux

(w or w/o delay)

Runof

Precip/subl.

2Implicit FW flux

𝚫 2 - 4

𝚫 = 2 4-
Type 1: 

Type 2: 
=

is fixed to pre-indust FW fluxes4

4 2

= 0

!= 0
=

Reservoirs
Fluxes

Obs. Fluxes
Proposed Approaches

2 3𝚫 = 1 - -

𝚫

𝚫 = 2

Type 1: 

Type 2: 
=

4

4 2

F

+

𝚫 = 3 +

=2 - 4

=

=
- 4 F-= 2

4

𝚫F

𝚫F

-
+

Surface

Snow/Firn/Ice

Ocean

3Ice Sheet

1

4
FW flux

(w or w/o delay)

Runof

Precip/subl.

2Implicit FW flux

FObserved FW flux 𝚫F+
𝚫F

⇒

⇒

⇒

⇒

𝚫F

S

I

I

OO

I

S

A

O

I

S

A

S

I

I

O


